Quiz on use of the present perfect.

Cross out two words in each question to make a correct sentence.

e.g Q1. They has have finished finishen their lunch.

Q1. They has have finished finishen their lunch.
Q2. He has have leaved left the hotel.
Q3. Has Have they gone went home?

Q4. Has Have he gone went home?

Q5. John and Susan has have not gone went home.
Q6. He has have been was helped a lot.
Q7. They has have been was helped a lot.
Q8. Has Have they been was helped?

Q9. Has Have he been treated treaten well?

Q10. Bernard has have not been telled told much about it.
Q11. They has have not been ignored ignoren.
Q12. We has have not had have time to think about it.
